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Warmup. Don’t turn in.
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Keep this to study for Friday’s big test.

Friday’s test covers notes and practice work from May 12"to May 23", See the class website http://genest.weebly.com

1. Which e- are considered the valence e- in any atom?

Answer:

For example, nitrogen, with 1s° 2s*> 2p’ has five valence e-

2. For nitrogen:

Valence electrons are the electrons of an atom’s outermost shell.
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How many electrons are there in Write the shorthand This m
the neutral atom? electron configuration: has a-
inits
Draw the boxes and arrows diagram - X
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3. For Vanadium (atomic # 23):
How many eledron@;&there in Write the shorthand This atom
the neutral atom? electron configuration: has e-
inits
Draw the boxes and arrows diagram | | 9 o o 3
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hand configuration (1s’ Z\szjap‘ etc) for each:
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Shorthand: ~
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¢ helium (atomic # = 2) o

Boxes and arrows:
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Shorthand:

d. zirconium (atomic # = 40)

Boxes and arrows:
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emits energy:

electron absorbs energy at ground state.
electron jumps to excited state.
atom is energized with electricity.
electron falls to ground state.
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4. Write the electron sho
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5. What element is this? A L UMIN UM
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Place the following events in chronological order (1

U=
** Puta star by where light is emitted.

and configuration (lik 15225 etc)) foran atom of neutra
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- how many electrons are in each shell
b. ‘Wwhat element is this?
7. How many e- are in the valence shellg
15°252p"35"3p%45%3d%p
8. For 15’25%2p%3s!
¢. how many electrons are in each shell
d. what element is this? SODIU M
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